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INSTRUCTIONS TO CANDIDATE
1. Candidates are to use the Answer Sheet provided.
2. Ensure that you fill in your Sl. No. correctly in the space provided in the OMR sheet as shown in the example there.
3. Candidates are required to mark the correct answer choice by shading the circle completely with blue or black ball

point pen. (Pen of any other colour or pencil is not allowed). For example, if the correct answer to question no 1. is 'B'
then the marking should be:

4. Write your NAME on the answer sheet.
5. Only one circle, i.e. the correct one should be shaded. Shading more than one circle will render the answer invalid.
6. A candidate having completed his/her ANSWER SHEET must hand it over, even if blank, to the invigilator along with the

Question Booklet before leaving the Examination Hall.
7. An examinee must not bring any loose paper, book, etc. to the Examination Hall. Any examinee found in possession

of even loose papers will be EXPELLED.
8. No extra sheet will be provided for making notes or calculations.
9. An examinee must not talk to, disturb or seek help from a fellow examinee during the examination.
10. Any mechanical or digital calculating device (calculator etc.) shall not be used by the examinee during the examina

tion.
11. Mobile Phones shall not be used by candidates inside the examination Hall.
12. No candidate will be allowed to leave the Examination Hall during the first hour of the examination.
13. The Question Booklet comprises of 50 compulsory questions and each question

carries 2 mark.
14. Contravention of any of the instruction mentioned above shall render a candidate

liable for disciplinary action as per rule.
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Full Marks/ ]ÇPö X=‘ö» / å]çOô X¶‘öÌ[ý f 100Time/a]Ì^ : 1 hours/ H³RôOç

General English

Fill up the blank spaces with suitable words from the options : (Q. to )

. Students must ———————— teachers whenever they meet them.

a) Respect b) Congratulate c) Greet d) Regard

2. Smita is the ————— of his two daughters.

a) Last b) Younger c) Youngest d) Young

. I do not —————— with the views expressed in your newspaper.

a) Concur b) Confirm c) Subscribe d) Coincide

. If you spend —————— your means , you will run ————— debt.

a) Above , in b) Beyond , into c) Above , into d) Beyond , in

. The Renaissance ideas penetrated   ——————— the European countries.

a) To b) Into c) Through d) No preposition

. I wonder if I shall get  ……………….  The annual examination.

a) Over b) Across c) Along d) Through

Pick out the correct sentence ( to )

a) There is no other alternative.

There is not any other alternative

a) you have a chance to win

you have a chance for winning

a) please do the needful and oblige.

please do what is necessary and oblige.

a) He hanged his head in shame.

He hang his head in shame

b) There is no alternative

d) None of the above is correct.

b) you have a chance of winning

d) you have a chance at winning.

b) please do the needful and obliged.

d) please do the necessity and oblige.

b) He hung his head in shame

d) He hunged his head in shame.
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General Mathematics / açWýç»S G×STö / açWýçÌ[ýS G×STö

1 . The midpoint of AB is the origin. If A is (3, -2), then B is :
 AB » ]Wýî ×[ý³VÇ c÷_ ]É_ ×[ý³VÇ* ̂ ×V A » ØšöçXçeEõ (3, -2) c÷Ì̂ , åTöãÜ™ö B » ØšöçXçeEõ c÷[ý :
 AB Ì[ý ]Wýî ×[ý³VÇ c÷_ ]É_ ×[ý³VÇ* ̂ ×V A AÌ[ý ØšöçXçeEõ (3, -2) c÷Ì̂ , Töã[ý B AÌ[ý ØšöçXçeEõ c÷ã[ýý :
a) (3, 0) b) (0, -2) c) (-3, 2) d) (-2, -3)

1 . The square root of the cube of a number is the cube of its square root. If it is not 1 and is less than 6. What is

the number ?

A$RôOç aeFîç» HýX» [ýGï]É_ aeFîçä$RôOç» [ýGï]É_» HX* ̂ ×V aeFîçä$RôOç 1 Xc÷Ì̂  %ç»Ó 6 TöêEõ a»Ó c÷Ì̂ , åTöãÜ™ö aeFîçä$RôOç ×Eõ ?
AEõ×Oô aeFîçÌ[ý HãXÌ[ý [ýGï]É_ aeFîç×OôÌ[ý [ýGï]Éã_Ì[ý HX* ̂ ×V aeFîç×Oô 1 Xçc÷Ì̂  A[ýe 6 åUãEõ æK÷çOô c÷Ì̂ , Töã[ý aeFîç×Oô ×Eõ ?
a) 2 b) 3 c) 4 d) All of these  %ç$RôOçc÷OãEõc÷O$RôOç / a[ý EõÌ̂ $RôOç

1 . The simplest form of  1

1 +
1 - a

1-a

is :

 1

1 +
1 - a

1-a

» a»_ %çEõç» éc÷ä$K÷ :

 1

1 +
1 - a

1-a

AÌ[ý aÌ[ý_ %çEõçÌ[ý]çX c÷_ :

a) a if a ¹ 0 b) 1 c) a if a ¹ -1 d) a if a ¹ 1

(a ^×V a ¹ 0) (a ^×V a ¹ -1) (a ^×V a ¹ 1)

p
1 . If tan  = q , then  = ..................

 = ..................
p
q

p
q

^×V tanθ =  c÷Ì̂ , åTöãÜ™ö

^×V tanθ =  c÷Ì̂ , Töã[ý  = ..................

a)
- q

p2 + q

2p2

2 b) p2 + q

q2 - p2

2 c) p - q
p2 + q2

2 2 d)
p2 + q2

q2 - p2

1 . The first 2000 odd integers are written consecutively. The 1000th odd number from the last is the pth natural number,

then p = ........

YÒU] 2000 $RôOç %^ÇG½ %F‰ø aeFîçEõ yÔ]çSÇaçã» ×_×Fã_ å`b» Zõç_» Y»ç 1000 aeFîEõ %^ÇG½ aeFîçä$RôOç p Ø‘öç\öç×¾Eõ aeFîç c÷ã_ p » ]çX c÷[ý
YÒU] 2000 Oôç %^ÇG½ %F‰ø aeFîçãEõ yÔ]çSÇaçãÌ»[ý ×_×Fã_ å`ãbÌ[ý ×VEõãUãEõ %^ÇG½ 1000 aeFîç×Oô p Ø‘öç\öç×[ýEõ aeFîç c÷ã_ p AÌ[ý ]çX

a) 1999 b) 2001 c) 2003 d) None of these A$RôOçC Xc÷Ì̂  / AEõ×$RôOC Xç

1 . In the follwoing figure PA is a tangent and BC is a chord. If ∠PAB is 300, then ∠ACB = ...............

Tö_Tö ×VÌ̂ ç ×$JôyTö PA A$RôOç &`ïEõ %ç»Ó BC AQöç_ Lîç* ̂ ×V ∠PAB » ]çX 300 c÷Ì̂  åTöãÜ™ö ∠ACB = ................

XÝäJôÌ[ý ×Jôæy PA AEõ×Oô & ï̀Eõ A[ýe BC AEõ×Oô Lîç, ̂ ×V ∠PAB AÌ[ý ]çX 300 c÷Ì̂ , Töã[ý ∠ACB = ................

(300P
A

B C

a) 450 b) 300 c) 600 d) None of these A$RôOçC Xc÷Ì̂  / AEõ×$RôOC Xç

17. In the following figure, ABC =

Tö_Tö ×VÌ̂ ç ×$JôyTö ∠ABC =

XÝäJôÌ[ý åVCÌ̂ ç ×Jôäy ∠ABC

) )

)

C

B

D

A

36
0

46
0

62
0

a) 1000 b) 1100 c) 1280 d) None of these (A$RôOçC Xc÷Ì̂  / AEõ×$RôOC Xç)
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2 . For what value of k, the system of equation kx-y=2, 6x-2y=3 has infinitely many solutions ?
'k' » ×Eõ ]çX» [ýçã[ý kx-y=2, 6x-2y=3 a]ÝEõ»S YÒSç_Ý» %aeFîç a]çWýçX Uç×Eõ[ý ?
'k' AÌ[ý ×Eõ ]çãXÌ[ý LXî kx-y=2, 6x-2y=3 a]ÝEõÌ[ýX YÒSç_ÝãTö %aeFî a]çWýçX Uç×Eõã[ý ?

a) k = 3 b) k ≠ 4 c) k = 6 d) does not exist

åEõçãXç ]çX Xç+/ åEõçX ]çX Xç+

If
X
b = a

, bx+ay = a2+b2, then the value of (x,y) are .............

^×V X

b
= 

y
a

, bx+ay = a2+b2, c÷Ì̂ , åTöãÜ™ö/ Töã[ý (x,y) »/ AÌ[ý ]çX ..............

a) (a,b) b) (a, - b) c) (b, - a) d) (b,a)

22. The roots of the equation bx+c  = 0 are integers, if ..............

2

X
2

+bx+c  = 0 a]ÝEõ»S» ]É_ã[ýç»  %F‰ø aeFîç c÷[ý ^×V ................

X
2

2
+bx+c  = 0 a]ÝEõÌ[ýãXÌ[ý ]É_m×_ %F‰ø aeFîç c÷+ã[ý ^×V ...................

a) b2-2c>0 b) b2-2c is the square of an integer and b is an integer

b2-2c AOôç %F‰ø aeFîç» [ýGï %ç»Ó b AOôç %F‰ø aeFîç c÷Ì̂
b2-2c AEõ×Oô %F‰ø aeFîçÌ[ý [ýGï A[ýe b AEõ×Oô %F‰ø aeFîç c÷Ì̂

c) b and c are integers d) b and c are even integers.

b %ç»Ó c %F‰ø aeFîç c÷Ì̂
b A[ýe c %F³Qö aeFîç c÷Ì̂

b %ç»Ó c ^ÇG½ %F‰ø aeFîç c÷Ì̂
b A[ýe c ^ÇG½ %F³Qö aeFîç c÷Ì̂

In a quadrilateral ABCD, AD= BC. If P,Q,R,S are mid points of AB, AC, CD and BD respectively then ................

^×V ABCD $JôTÇö\ÉöÛL» AD= BC %ç»Ó P,Q,R,S yÔã] AB, AC, CD  %ç»Ó BD  » ]Wýî ×[ý³VÇ c÷Ì̂ , ãTöãÜ™ö ...................
^×V ABCD »JôTÇö\ÇöÛãLÌ[ý AD= BC A[ýe P,Q,R,S yÔã] AB, AC, CD A[ýe BD AÌ[ý ]Wýî×[ý³VÇ c÷Ì̂ , Töã[ý ..................

a) PQRS is a rhombus b) PQRS  is a square c) PQRS is a rectangle d) None of these

AOôçC Xc÷Ì^PQRS AOôç »¶‘öç$K÷ PQRS AOôç [ýGï PQRS AOôç %çÌ̂ Töãlùy
PQRS AEõ×Oô Ì[ý¶‘öça PQRS AEõ×Oô [ýGï PQRS AEõ×Oô %çÌ̂ Töãlùy AEõ×OôC XÌ^

If Sin∝ + Cosec∝ = 2 then Sinn∝ + Cosecn∝  = ...............

^×V Sin∝ + Cosec∝ = 2  c÷Ì̂ , åTöãÜ™ö Sinn∝ + Cosecn∝  = ...............

^×V Sin∝ + Cosec∝ = 2  c÷Ì̂ , Töã[ý Sinn∝ + Cosecn∝  = ...............

a) n (Sin∝+Cosec∝) b) 2 c) ∝ ∝ d) None of these

2

2

2

y

2
X

+
2

18.
1 1

+ +
1 1 1

+
1 1 .............

.1+ 2 2 + 3 3 + 4 4 + 5 5 + 6 6 + 7 7 + 8 8 + 9
+ + + =

(a) 0 (b) 1 (c) 2 (d) 4

19. The reciprocal of 3− +
5

x − 2  is .................

+
53

x − 2
−  » %ãXîç~Eõ .............................................

+
53

x − 2
−  AÌ[ý %ãXîç~Eõ ........................................

(a) −
1 2
3 5

x −
+

2
(b) −3

5
x −

+ (c)
2

11−3
x

x
−

(d) 3− 5
x − 2

25. A train crosses 210m and 122m long bridges in 25 and 17 seconds respectively. The length of
the train is .................
AFX å»_GçQÍöÝãÌ^ 210 ×]$Oôç» %ç»Ó 122 ×]$Oôç» V_e yÔã] 25 %ç»Ó 17 æ$K÷ãEõ‰øTö %×TöyÔ] Eõ×»[ý Yç×»ã_ å»_GçQÍöÝFX»
éVHïî c÷[ý ..........................................

AEõ×»Oô åÌ[ý_GçQÍöÝ 210 ×]»OôçÌ[ý A[ýe 122 ×]»OôçÌ[ý åaTÇö %×TöyÔ] Eõ×Ì[ýãTö ̂ UçyÔã] 25 A[ýe 17 åaãEõ³Qö _ç×Gã_ åÌ[ý_GçQÍöÝÌ[ý éVHïî
c÷ã[ý .......................

(a) 11m (×]$f) (b) 65m (×]$f) (c) 332m (×]$f) (d) 88m (×]$f)

+1
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A hollow sphere of internal and external diameters 4 cm and 8 cm respectively is melted into a cone of base diameter

8cm. Find the height of the cone ?

åZgõçãYç_ç åGç_Eõ AOôç» %Ü™öf %ç»Ó [ý×c÷f [ýîça yÔã] 4 æ$K÷f ×]f %ç»Ó 8 æ$K÷f×]f* åGç_EõäOôç G_ç+ A×Oô ̀ eEÇõ» »ÖY ×VÌ̂ çTö Töç» \ÉöTö_» [ýîça 8
æ$K÷f×]f c÷Ì̂ , åTöãÜ™ö ̀ eEÇõäOôç» =¬JôTöç ×X»ÖYS Eõ»ç ?

ZgõçYç åGç_ãEõÌ[ý %Ü™öf[ýîça A[ýe [ý×c÷f [ýîça yÔã] 4 åa. ×]. A[ýe 8 åa.×].* ̂ ×V åGç_Eõ×OôãEõ G_ç+Ì̂ ç AEõ×Oô ̀ eEÇõÌ[ý %çEÊõ×Tö ×Vã_ +c÷çÌ[ý \ÉöTöã_Ì[ý [ýîça
8 åa.×]. c÷Ì̂ , Töã[ý ̀ eEÇõ×OôÌ[ý =¬JôTöç ×XÌ[ýÓYX EõÌ[ý*

a) 14 cm b) 12 cm c) 16 cm d) None

14 æ»K÷.×]/ãa.×]. 12 æ»K÷.×]/ãa.×]. 16 æ»K÷.×]/ãa.×]. AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

Two chords AB and CD of a circle cut each other when produced outside the circle at P. AD and BC are joined. If

∠PAD = 300 and ∠CPA = 450 find ∠CBP.

AOôç [ýÊwø» AB %ç»Ó CD Lîç VÇQöç_Eõ [ýRÍôç+ ×Vã_ [ý×c÷f ×[ý³VÇ P Tö EõOôçEõ×Oô Eõã»* AD %ç»Ó BC aeã^çG Eõ»ç c÷'_* ̂ ×V ∠PAD = 300%ç»Ó
∠CPA = 450 c÷Ì̂  åTöãÜ™ö ∠CBP » ]çX ×XSïÌ̂  Eõ»ç*
AEõ×Oô [ýÊãwøÌ[ý AB A[ýe CD Lîç VÇ×OôãEõ [ýçQÍöç+Ì̂ ç ×Vã_ [ý×c÷×[ýï³VÇ P åTö EõOôçEõ×Oô EõãÌ[ý* AD A[ýe BC aeã^çG EõÌ[ýç c÷+_* ̂ ×V ∠PAD = 300A[ýe
∠CPA = 450 c÷Ì̂ , Töã[ý ∠CBP AÌ[ý ]çX ×XSïÌ̂  EõÌ[ý*

A
B

C
D

P

)

45
0

30
0

a) 1050 b) 1150 c) 1350 d) None of these

AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

0 is the centre of the circle as shown in the diagram. The distance between P and Q is 4 cm. Then the measure of

∠ROQ is ...........

×$JôyTö åVFÇ¾ç [ýÊwøäOôç» åEõ³VÐ 0* ^×V P %ç»Ó Q » ]çL» VÉ»±¼ö 4 æ$K÷f ×]f c÷Ì̂  åTöãÜ™ö ∠ROQ » ]çX .................. c÷'[ý*

×»JôyãTö åVFçãXç [ýÊwø×OôÌ[ý åEõ³VÐ 0* ̂ ×V P A[ýe Q AÌ[ý ]Wýî VÉÌ[ý±¼ö 4 åa. ×]. c÷Ì̂ , Töã[ý ∠ROQ AÌ[ý ]çX c÷+ã[ý ................*

a) y0 b) d) 700

If (^×V)
x

a
Cosθ +

y

b
Sinθ = 1,

350

x

a
Sinθ -

c) 1050

y

b
Cosθ = 1 then/åTöãÜ™ö/ Töã[ý

a) x2+y2 = a2+b2 b) +  = 2 c) a2x2 + b2y2 = 1 d) None of these

AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
Which of the following is in descending order.

Tö_» åEõçXäOôç %WýfyÔ]Tö %çä$K÷*
XÝä»JôÌ[ý åEõçX×Oô %Wýf yÔã] %çä»K÷ ?

a)
3

4
> -2 > 

-11

20
>

4
-5 b)

3

4
>

-11

20
>

-4
5 > -2 c)

3

4
>

4
-5 > -2 >

-11

20
d)

3

4
>

4
-5 >

-11

20
> -2

2

2

2

2

3
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General Science / açWýç»S ×[ýpûçX / açWýçÌ[ýX ×[ýpûçX

3 . A compound microscope has two lenses of magnifying power 3 and 5. The magnification of the microscope will be .

A$RôOç å^ì×GEõ %XÇ[ýÝlùS ̂ Ü—ö» VÇãÌ̂ çFX å_³K÷» ×[ý[ýWýïX lù]Töç 3 %ç»Ó 5 c÷ã_ %XÇ[ýÝlùS ̂ Ü—öä$RôOç» ×[ý[ýWýïX c÷[ý :
AEõ×Oô å^ì×GEõ %XÇ[ýÝlùS ̂ ãÜ—öÌ[ý VÇ×Oô å_ã³aÌ[ý ×[ý[ýWýïX lù]Töç 3 A[ýe 5 c÷+ã_ %XÇ[ýÝlùX ̂ Ü—ö×OôÌ[ý ×[ý[ýWýïX c÷+ã[ý :
a)  b) 3 x 5 c) 3 + 5 d) 5 - 3

3 . An air bubble in water behaves as a :

YçXÝTö [ýçÌ^Ç» [ýÇ»[ýÇ»×SãÌ̂  .................... ×c÷$JôçãY Eõç^ïî Eõã»*
Lã_ [ýçÌ̂ ÇÌ[ý [ýÇV[ýÇV .................... ×c÷açã[ý EõçL Eõ×Ì[ýÌ̂ ç UçãEõ*
a) convex lens c) convex mirror d) plane mirror

a]Tö_ VçãYçS%[ýTö_ å_³K÷
%[ýTö_ å_³a

b) concave lens

QöOwø_ å_³K÷
QöOwø_ å_³a

%[ýTö_ VçãYçS
%[ýTö_ VYïX a]Tö_ VYïX

3 . A 120V DC supply is to be used for a 30V, 90W lamp. What resistance should be connected for the bulb to glow ?

30 \öDRôO, 90 ¾ç$RôO» A$RôOç ×[ýLÇ_Ý [ýç×$RôO 120 \öDRôO» DC YÒ[ýçc÷» éaãTö ̂ ÇNþ Eõ»ç éc÷ä$K÷* ×[ýLÇ_Ý [ýç×$RôOä$RôOç Lâ×_[ýê_ ×Eõ]çX Y×»]çX» å»çWý aeã^çG
Eõ×»[ý _ç×G[ý ?
30 \öDRôO, 90 CÌ̂ çãOôÌ[ý AEõ×Oô é[ýVÇî×TöEõ [ýç_ŸãEõ 120 \öåDRôÌO[ý DC YÒ[ýçãc÷Ì[ý a×c÷Tö ̂ ÇNþ EõÌ[ýç c÷+_* [ýç_Ÿ×Oô Lâç_çãTö c÷+ã_ ×Eõ Y×Ì[ý]çãXÌ[ý ãÌ[ýçWý aeã^çG
Eõ×Ì[ýãTö c÷+ã[ý ?
a) 30 Ω b) 10 Ω c) 20 Ω d) 40 Ω

3 . Three 10  resistances are so connected that they form a triangle. If any two adjacent sides of the triangle are

connected to a circuit, the effective resistance offered by the combination is :

10 Ω » ×Tö×X$RôOç å»çWý A$RôOç ×Åy\ÉöL» %çEõç»Tö aeã^çG Eõ»ç éc÷ä$K÷* ̂ ×V ×Åy\ÉöLä$RôOç» ×^ãEõçãXç VÇ$RôOç ae_GÂ [ýç§Eõ A$RôOç [ýwïøXÝ» _GTö aeã^çG c÷Ì̂
åTöãÜ™ö a#çä$RôOç» a]TÇö_î å»çWý c÷[ý :
10 Ω AÌ[ý ×Tö×X$RôOç åÌ[ýçWý AEõ×$RôO ×Åy\ÇöãLÌ[ý %çEõçãÌ[ý aeã^çG Eõ Ì[ýç c÷c÷O_* ^×V ×Åy\ÇöL×$RôOÌ[ý å^ãEõçãXç VÇc÷O×$RôO ae_GÂ [ýç§ýãEõ AEõ×$RôO [ýwïøXÝ Ì[ý açãU
aeã^çG Eõ Ì[ýç c÷Ì̂ , Töçc÷ã_ a#ç×$RôOÌ[ý a]TÇö_î åÌ[ýçWý c÷c÷Oã[ý :

a) 15 Ω b) 6.66 Ω c) 10 Ω d) 3.33 Ω

3 . Which of the following will replace hydrogen from acid to form a salt ?

Tö_» åEõçXä$RôOçã¾ A×$JôQö» Y»ç c÷çc÷OQÎöãLXEõ %Yaç×»Tö Eõ×» ×X]F QöOdY~ Eõã» ?
XÝäJôÌ[ý åEõçX×Oô c÷ç+QÎöãLXãEõ %Yaç×Ì[ýTö EõãÌ[ý _[ýX =dY~ EõãÌ[ý ?
a) S b) Na c) Si d) P

b) basic oxide d) neutral oxide

lùç»EõÝÌ̂  %jçc÷OQö
lùç Ì[ýEõÝÌ̂  %jçc÷OQö

c) amphoteric oxide

QöO\öWý]ÝÛ %jçc÷OQö
QöO\öWý]ÝÛ %jçc÷OQö

YÒ̀ ] %jçc÷OQö
YÒ̀ ] %jçc÷OQö

3  P
2
O

5 is an :
P

2
O

5
éc÷ä$K÷ :

P
2
O

5
c÷_ :

acidic oxide

%ç×=ÚöEõ %jçc÷OQö%ç×=ÚöEõ
%jçc÷OQö

3  Wine contains :

aÇ»çTö .......... %çä$K÷*
]ãV ................ %çäK÷*
a) CH

3
OH b) C

2
H

5
OH c) C

6
H

5
OH d) CH

3
COOH

3 . The two major constituents of duralumin are .............

QÇö» A_Ç×]X» YÒWýçX QöOYçVçX VÇ$RôOç éc÷ä$K÷ ................
QÇöÌ[ý A_Ç×]ãXÌ[ý YÒWýçX =YçVçX VÇ+×Oô c÷+_ f-
a) Al and Mg b) c) Cu and Mg d) Al and Cu

Al %ç»Ó Mg

Al A[ýe Mg

Mn and Mg

Mn %ç»Ó Mg

Mn A[ýe Mg

Cu %ç»Ó Mg

Cu A[ýe Mg

Al %ç»Ó Cu

Al A[ýe Cu

3 . In terrestrial plants, CO2 diffuses through stomata. In submerged plants, CO2 diffusion takes place through

Øšö_L QöO×àöãV Yy »µÐùãÌ̂ ×V CO2 QöO×_Ì̂ çc÷O ×VÌãÌ̂  ×Eõ³wø %WýïL_ ]GÂ QöO×àöãV CO2 åEõãXêEõ QöO×_Ì̂ çc÷O ×VãÌ̂  ?
^×V Øšö_L =×àöV Yy Ì[ýµùãXÌ[ý ¥çÌ[ýç CO2 [ýç×c÷Ì[ý Eõ×Ì[ýÌ̂ ç åVÌ̂  Töçc÷ã_ %WýïL_ ]GÂ =×àöV CO2 ×Eõ\öçã[ý [ýç×c÷Ì[ý Eõ×Ì[ýÌ̂ ç åVÌ̂
a) stomata c) hydathodes d) all of these

Yy »µÐù
Yy Ì[ýµÐù

b) epidermal tissue

%×WýØ™ö»ÝÌ̂  Eõ_ç
%×WýØ™öÌ[ýÝÌ̂  Eõ_ç

L_»µÐù
L_Ì[ýµÐù

%ç$RôOçc÷OãEõc÷O$RôOç
a[ýEõÌ^Oôç
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4 . Two plane mirrors are inclined to each other at an angle of 600. If a ray of light incident on the first mirror at an angle

of 300 is  reflected to the second mirror, it will be reflected again from the  second mirror ..............

VÇFX a]Tö_ VçãYçS 600 åEõçSTö Y»&» åc÷_XÝÌ̂ çêEõ »Fç éc÷ä$K÷* ̂ ×V A×Oô åYçc÷» »×`½ YÒU] FX VçãYçSTö 300 åEõçSTö %çY×TöTö éc÷ ×¥TöÝÌ̂
VçãYçSé_ YÒ×TöZõ×_Tö c÷Ì̂ , åTöãÜ™ö åYçc÷» »×`½ ×¥TöÝÌ̂  VçãYçS» Y»ç %çãEõì YÒ×TöZõ×_Tö c÷[ý ................

VÇ+×Oô a]Tö_ VYïSãEõ 600 åEõçãS YÌ[ý&Ì[ýãEõ &`ÞÌ̂  \öçã[ý Ì[ýçFç c÷+Ì̂ çä»K÷* ̂ ×V AEõ×Oô %çã_çEõ Ì[ý×`½ YÒU] VYïãS 300  åEõçãS %çY×TöTö c÷+Ì̂ ç ×¥TöÝÌ̂
VYïãS YÒ×TöZõ×_Tö c÷Ì̂ , Töã[ý %çã_çEõ Ì[ý×`½ ×¥TöÝÌ̂  VYïS åUãEõ %ç[ýçÌ[ý YÒ×TöZõ×_Tö c÷+ã[ý ...............

a) Perpendicular to the first mirror

YÒU] VçãYçS» _¶‘ö ×V`Tö
YÒU] VYïãSÌ[ý _ã¶‘öÌ[ý ×VãEõ

b) Parallel to the first mirror

YÒU] VçãYçS» %XÇ\Éö×]Eõ ×V`Tö
YÒU] VYïãSÌ[ý %XÇ\Éö×]ãEõÌ[ý ×VãEõ

c) Parallel to the second mirror d) Perpendicular to the second mirror

×¥TöÝÌ̂  VçãYçS» %XÇ\Éö×]Eõ ×V`Tö
×¥TöÝÌ^ VYïãSÌ[ý %XÇ\Éö×]ãEõÌ[ý ×VãEõ

×¥TöÝÌ̂  VçãYçS» _¶‘ö ×V`Tö
×¥TöÝÌ̂  VYïãSÌ[ý _¶‘ö ×VãEõ

4  In which of the following cases do we get very strong reflected rays and very weak refracted rays ?

Tö_» åEõçXäOôç ålùyTö %ç×] a[ý_ YÒ×TöZõ×_Tö »×`½ %ç»Ó VÇ[ýï_ YÒ×Töa×»Tö »×`½ Yç] ?
XÝä»JôÌ[ý åEõçX×OôÌ[ý ålùäy %ç]Ì[ýç a[ý_ YÒ×TöZõ×_Tö Ì[ý×`½ A[ýe VÇ[ýï_ YÒ×Töa×Ì[ýTö Ì[ý×`½ Yç+ ?

Light passing from air to glass

[ýçÌ̂ Ç» Y»ç Egõç$Jôê_ åYçc÷» Yç» éc÷ Gã_*

%çã_ç [ýçÌ̂ Ç åUãEõ Egõçä»Jô YÒ[ýç×c÷Tö c÷Ì̂ *

Light passing from water to glass

YçXÝ» Y»ç Egõç$Jôê_ åYçc÷» Yç» éc÷ Gã_*

%çã_ç L_ åUãEõ Egõçä»Jô YÒ[ýç×c÷Tö c÷Ì̂

Light passing from glass to diamond

Egõç$Jô» Y»ç c÷Ý»çê_ åYçc÷» Yç» éc÷ Gã_

%çã_ç Egõç»Jô åUãEõ c÷ÝÌ[ýçãTö YÒ[ýç×c÷Tö c÷Ì̂

Light passing from water to air

YçXÝ» Y»ç [ýçÌ̂ Çê_ ãYçc÷» Yç» éc÷ Gã_*

%çã_ç L_ åUãEõ [ýçÌ̂ ÇãTö YÒ[ýç×c÷Tö c÷Ì̂ *

4  Sunlight takes 8 minutes 20 sec to reach earth. If the whole atmosphere is filled with water, the light

4

3
will take (aµw= ) ...................  .

aÉ̂ ïî» åYçc÷» YÊ×U¾Ý YçCgãTö 8 ×]×XOô 20 æ$K÷ãEõ‰ø a]Ì̂  _çãG* ̂ ×V åGçäOô+ [ýçÌ̂ Ç]‰ø_ YçXÝã» Y×»YÉSï c÷Ì̂ , åTöãÜ™ö åYçc÷» »×`½ YÊ×U¾Ý YçCgãTö a]Ì̂

_ç×G[ý  ............... (aµw= 4

3
)

aÉã ï̂îÌ[ý %çã_ç YÊ×U[ýÝãTö åYì»K÷ç+ãTö 8 ×]×XOô 20 åaãEõ³Qö _çãG* ̂ ×V a¶YÉXï [ýçÌ^Ç]³Qö_ Lã_ Y×Ì[ýYÉXï c÷Ì̂ , Töã[ý %çã_çEõ Ì[ý×`½ YÊ×U[ýÝ åYì»K÷ç+ãTö ...........
4

3
_çãG*(aµw= )

a) 6 min b) 11 min 6 sec c) 8 min 10 sec d) 8 min

6 ×]×XOô 11 ×]×XOô 6 æ$K÷ãEõ‰ø/åaãEõ³Qö 8 ×]×XOô 10 æ$K÷ãEõ‰ø/ åaãEõ³Qö 8 ×]×XOô

4 . What will be the equivalent resistance between points P and Q in the network shown here ?

×$JôyTö åVFÇC¾ç a¯LçäOôç» P %ç»Ó Q ×[ý³VÇ» ]çL» a]TÇö_î å»çWý ×Eõ]çX ?
×»Jôäy åVFçãXç a¯Lç×OôãTö P A[ýe Q ×[ý³VÇÌ[ý ]ãWýî a]TÇö_î åÌ[ýçWý EõTö ?

P

Q

4Ω 4Ω 444444ΩΩΩΩΩΩ

2Ω3Ω3Ω

a) 4 Ω b) 6 Ω c) 24 Ω d) 32 Ω
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4 . To produce biogas in a biogas plant, we need ..........

éL¾ åG$K÷» Eõç»FçXçTö, éL¾ åG$K÷ YÒØ™ÇöTö  Eõã»çãTö %ç×] [ýî¾c÷ç» Eõã»ç ...................*
éL[ý GîçãaÌ[ý EõçÌ[ýFçXçÌ̂  éL[ý Gîça YÒØ™ÇöTö Eõ×Ì[ýãTö %ç]Ì[ýç [ýî[ýc÷çÌ[ý Eõ×Ì[ý ..............*

a) Oxygen but not water b) Water but not Oxygen   c) Oxygen and Water d) Neither oxygen nor water

%×jãLX ×EõÜ™Çö YçXÝ Xc÷Ì̂ YçXÝ ×Eõ³wø %×jãLX Xc÷Ì̂ %×jãLX %ç»Ó YçXÝ %×jãLXC Xc÷Ì̂  YçXÝC Xc÷Ì̂
%×jãLX ×EõÜ™Çö L_ XÌ̂ %×jãLX A[ýe L_ %×jãLXC XÌ̂  L_C XÌ̂

b) 1 Volt x 1 Coulomb = 1 Joul

L_ ×EõÜ™Çö %×jãLX XÌ^

4  Which of the following is not correct ?

Tö_» åEõçXäOôç £ˆù Xc÷Ì̂  ?

XÝä»JôÌ[ý åEõçX×Oô £ˆù XÌ̂  ?
1 Volt x 1 Watt = 1 HP

1 \ö·Oô x 1 ¾çOô (CÌ̂ çOô) = 1 %`Ÿ lù]Töç
1 \ö·Oô x 1 EÇõ_¶‘ö = 1 LÇ_

c) 1 Volt x 1 amp = 1 J d) Watt - hour can be expressed in eV

1 \ö·Oô x 1 A×¶YÌ̂ ç» (A×¶YÌ̂ çÌ[ý) = 1 LÇ_ ¾çOô -- H³Oôç +ã_kỗX \ö·OôTö YÒEõç` Eõ×»[ý Yç×»*
CÌ̂ çOô - H³Oôç +ã_Eõ®ÏôX \öä·Oô YÒEõç` Eõ×Ì[ýãTö Yç×Ì[ý*

4 . Which of the following metal can prevent the corrosion of tin ?

Tö_» åEõçXäOôç WýçTÇöã¾ ×OôX» lùÌ̂  å»çWý Eõ×»[ý Yçã» ?
XÝä»JôÌ[ý åEõçX×Oô WýçTÇö ×OôãXÌ[ý lùÌ̂  åÌ[ýçWý Eõ×Ì[ýãTö YçãÌ[ý ?

a) Zn b) Cu c) Pb d) Ag

4 . Rust is a mixture of .............

]ç]» ................... ×]`Ò*
]×Ì[ý»Jôç ...................... ×]`Ò*

a) FeO and Fe(OH)2 b) FeO and Fe(OH)3 c) Fe2O3 and Fe(OH)3 d) Fe3O4 and Fe (OH)3

FeO %ç»Ó / A[ýe Fe(OH)2 FeO %ç»Ó / A[ýe Fe(OH)3 Fe2O3 %ç»Ó/A[ýe Fe(OH)3 Fe3O4 %ç»Ó/A[ýe Fe (OH)3

4 . The general formula of carboxylic acids is ............

Eõç[ýï%×j×_Eõ A×$K÷Qö» açWýç»S aeãEõTöäOôç éc÷ä$K÷ ...............
Eõç[ýï%×j×_Eõ A×aãQöÌ[ý açWýçÌ[ýS aeãEõTö×Oô c÷+ã_ ..........

a) CnH2n+1OH b) CnH2nO c) CnH2nO2 d) Cn H2n+2

4 . Bile contains ............

×Ywø »aTö ............. %çä$K÷*
×Ywø Ì[ýãa ................... %çä»K÷*

a) Protein digesting enzymes b) Carbohydrate digesting enzymes

YÒ×OôX Yç$JôXEõç»Ý =dåa$JôEõ
YÒ×OôX Yç»JôXEõçÌ[ýÝ =dåa»JôEõ

Eõç[ýïc÷ç+äQÎöOô Yç$JôXEõç»Ý =dåa$JôEõ
Eõç[ýïc÷ç+äQÎöOô Yç»JôXEõçÌ[ýÝ =dåa»JôEõ

d) All of thesec) Fat splitting enzymes

$Jô×[ýï ×[ý\öçLXEõç»Ý =dåa$JôEõ
»Jô×[ýï ×[ý\öçLXEõçÌ[ýÝ =dåa»JôEõ

%çOôç+ ãEõ+Oôç*
a[ý EõÌ^×Oô

5 . O2 evolved in photo synthesis is ..............

açã_çEõ aeä`ÀbSTö .............. O2 =dY~ c÷Ì̂ *
açã_çEõ aeä`ÀbãS ............ O2 =dY~ c÷Ì̂ *

a) from water b) from CO2 c) from H2O and CO2 d) from air

[ýçÌ̂ Ç» Y»çYçXÝ» Y»ç
L_ c÷+ãTö

CO2 » Y»ç
CO2 c÷+ãTö

YçXÝ %ç»Ó CO2 » Y»ç
L_ A[ýe CO2 c÷+ãTö [ýçÌ̂ Ç c÷+ãTö
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